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1 Brownian Motion with Drift

Definition 1. The process {B,,(t),t > 0} is called Brownian Motion with drift p if it satisfies the following conditions
i) B,(0) =0 a.s.

it) It has independent and stationary increments

iii) By (t) ~ N(ut,t).

where p € R.

It is easy to realize that it can be written in the form
B,(t) = it + Bt

where B(t) is the standard Brownian Motion. If in addition we want to add a diffusion coefficient o > 0 we could
write the general (i, 0)-BM, W (t), in the following form

W(t) = pt+ o B(t).

1.1 Convergence of Simple Random Walks
It can be proved that we can approximate a (u,c)-BM, W(t), by a sequence of Random Walks, {Xa¢(t),t > 0} at~o0,

Lt/ At]
Xai(t) =42z ) X,
n=1

with {X,, }»>0 being a sequence of iid. r.v. with the following distribution

+1 w.p. 3+ p(At)
X, =
-1 w.p. £ —p(At)

where Az = o/ At and p(At) = 5=V AL.
We have
Xae(t) =g W(t) as At — 0.

1.2 Backward Diffusion Equations
Let W(t) be a (u,0)-BM and define

. Ple <W(t) <z -+ Az|W(0) =
o) = Jim PLES WO S+ B0l =)

the probability density to have W (t) = x at time ¢ conditioned on the event it started in y at time 0.
By conditioning on the position of the process at time 0 < h < ¢, W(h), we have that

Plo SW(t) <a+ AxlW(h) =2 WO) =0} pryp i e gaw(0) = o)

p(z,t;y) = lim

Az—0 Jr Ax
< < =z =
~ lim P{x <W(t) <z + Az|W(h) =2z =y} POW () € d=|W (0) = y}
Az—0 Jp Azx

- / p(z,t — b y) Py {W (h) € dz}
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where the second equality follows from the Markov property of the Brownian Motion and in the last we assumed we
could exchange the integral and the limit operators.
Writing the integral as an expectation we have

p(z,t;y) = Ey[p(z,t — h; W(h))],

or equivalently
p(z, t;y) = p(z,t — hiy) = By[p(z,t — h; W(h)) — p(a,t = h; W(0))] = E[g(y +Y) — g(y)], (1)
where g(y) = p(z,t — h;y) and Y = W(h) — W(0). By Taylor expansion of g(y) we have
90+ ) = 9() + 9'(0) Dy + 50" (W)(Dy)” + 5399 (€ (Ag)°

with & = £(Ay) € [-Ay, Ay], and Y ~ N(uh, 0% h) the following relations hold true

E[Y]=pnh (2)
E[Y?] = Var[Y] + E?[Y] = 0® h + (uh)? = 0* h + o(h) (3)
E[Y?3] = E3[Y] + 3Var[Y]E[Y] = h®(4® + 3 no?) = o(h). (4)
Therefore
Elgly+Y) — g(y)] = g’ W)E[Y] + %g“(y)IE[Y]2 + %E[Q(S) (E)Y? (5)
= g/ (uh+ 39" ()0 -+ o(h) (6)

where E = Z(Y) € [-Y, Y] and by equations (1) and (6), dividing by & and letting h — 0 we finally get

Op 20%p

e 1y Pt 2 :
a(xatﬂy) *N’ay(xatay)+ 9 8:[/2 (x,t,y) (7)

that is known as Backward Diffusion Equation.

1.3 Forward Diffusion Equations

Proceedings analogously to the previous section we can write the density transition function p(z,¢;y) in the following
way
p(z, ty) = E[p(W(t —h),t — h;y)|W(t) = =],

obtaining
p(x, t;y) —pla,t —hyy) = Ep(W(t — h),t — hyy) — p(x,t — h;y)|[W(t) = 2] = E[g(x — X) — g(z)], (8)

where we have defined g(z) = p(z,t — h;y) and X = W(t) — W(t — h).
By doing the same steps as for the backward case we finally get

dp . dp L o? 0%p .

that is known as Forward Diffusion Equation.

1.4 Solution of the Heat Equation
Consider the case of a (0,0)-BM, say B,(t). Then we already know that

(B (t)| B+ (0) = y) ~ N(y, 0% ),
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and therefore the probability density at time ¢ is given by

1 (z—1)?
B,(t) =x|B,(0) =y) =p(x,t;y) = ———e 202t ,
(Bo(t) = z[B,(0) = y) = p(z, t;y) Norwer

that is solution of the following forward diffusion equation, also known as heat differential equation,

o2 0%p

E(%t;y) = 7@(937??511) (10)

where we used (9) with g = 0.
Therefore the solution of the heat equation with boundary condition

p(z,0;y) = d(z —y),

with d(x) the Dirac delta function, is given by

1 _@-p? oo 1 2 oo
p(x,t;y)zﬁe 207t :/ 5(2—($—9))\/ﬁ6 2"2td2‘:/ §(zoVt — (z —y)) dd(2)

where ®(z) = P{Z < z} with Z ~ N(0, 1) a standard Normal random variable.
In general if the starting position is distributed with density p(y) then the density at time ¢, p(z,t), is given by

+oo
p(,t) = Elp(z, £;Y)] = / P ) ply) dy
Foo 1 _(w*’wz _ oo
=/m ) =™ dy—[m Pl — 2 ov/E) dd(2)

with Y a r.v. having density p(0,y).
Therefore we obtain the following result: the solution of the heat equation

he(z,t) = % how(, 1) (11)

with initial boundary condition h(zx) is given by

+o0 )2 +o0
h(z,t) = [ h(y) \/ﬁe_gﬁz dy = [ h(z — zoV/t) d®(z) (12)

1.5 Hitting Times

In this section we compute the probability for a Brownian motion with drift to hit a level A > 0 before the level
—B < 0. Let write
p(y) = P{hits A before —B|B,(0) =y} = P, {hits A before —B}

for this probability. By defining Y = B,,(h) — B,,(0) it is easy to realize that
p(y) = Elp(y +Y)] + o(h)

and writing

ply+Y) =pu) + P (4) Y + 2" (5) Y* + o(h)

2
we get
1
E[p'(y) Y + 50" (y) Y?] = o(h)
that divided by h and after letting h — 0 gives
1
wp'(y) + 50" (y) = 0. (13)
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The solution of (13) with boundary conditions p(A) = 1 and p(—B) = 0 is given by

62,uB 4 672#1

p(y) = e2uB -|—e—2lJ«A

and letting p — 0 we get for the standard Brownian motion B(t) that

p(y) = Bty
Y=B+A

2 Stochastic Calculus

In 1900, Bachelier proposed for the Paris stock exchange a model for the fluctuations affecting the price X (t) of an
asset that was given by the Brownian motion. By calling dX (¢) the infinitesimal variation of the price, he proposed

dX (t) = pdt + o dB(t). (14)

Even if at the moment equation (14) does not have a precise meaning, one can guess that it has as solution the
(1, 0)-BM, i.e.
X(t) =put+oB(t).

The problem of last solution is that
P{X(t) <0} >0

especially when p < 0, where this probability increases to 1 as t — oco.
A solution to this modeling problem could be find by changing the absolute differential changing in the price

dX (t) by the relative changing, i.e. d)f((tt)), in such a way to obtain the following Stochastic Differential Equation

(SDE),

dX(t) = p X (t)dt + o X (t) dB(t). (15)

Again, at the moment we have no precise meaning for the SDE (15), but we could naively try to guess that the
following steps will give the right solution to it.

dX(t)

50 =pdt+0dB(t) = dn{X()}=pdt+odB(lt) = X(t)=X(0)e'*7B0O  WRONG!

We will see after a precise definition of what we mean by a SDE that last guess is indeed a wrong guess and that
more care we need when handling with stochastic calculus.

2.1 SDE seen as Stochastic Integral Equations

Before starting the definition of the stochastic integral we start noticing that it has no meaning to speak about the
differential of the Brownian Motion, i.e. dB(t). Indeed the Brownian motion has the property to have almost surely
all the sample functions continuous but nowhere differentiable. To have just a felling of this let us look the following
limit

tim B0 = BO) 22 v o1y

h—0 Vh

and from this we get that there is no defined limit for (B(h) — B(0))/h. Indeed for any a > 0 we have

: B(h) — B(0) L B(h) — B(0) 1
Jimy P{= > a) = Jim P > avhy = 5

therefore if there were a limit r.v. it would take only values £o00, each with probability 1/2.
Since we cannot speak about the differential Brownian Motion we need an alternative interpretation for the
following SDE
dX(t) = a(t, X (t))dt + b(t, X (t)) dB(t) (16)

with a(t,x) and b(t, z) two given random functions.
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The interpretation is the following, the stochastic process X (t) is a solution of the SDE (16) if it satisfies for each
t > the following integral relation

t t
X(t) = X(0) +/ a(s,X(s))ds+/ b(s, X (s))dB(s) (17)
0 0
and we are left only with the definition of the meaning of the stochastic integral fot b(s, X (s))dB(s).

2.2 Not uniqueness of the Riemann sum

A first attempt in the definition of the stochastic integral could be to define it as a limit of a Riemann sum. To this
aim, given an interval [0, t] let define II,, = {0 = tp < ¢; < t2 < ... < t, =t} be a partition of it in n sub intervals,
and let define

1L, = = —tr_1).-

o[ =n, ||| = max (t —tx-1)

In addition we denote by P, the set of all partition of order n of the interval [0,t] and by P = |J,,-( Pn, the set of
all partitions.

In general, if we have two continuous functions f(¢) and g¢(t), mutually integrable (for this it is enough to have
g(t) of BV, see later for more details), the Riemann-Stieltjes integral is defined as

1|

| 1ot = tim S rlenlatee) sl

II 0
][ —0 £~

where £ is any point in the interval [tx_1, tx].

In the following we check that, as for the definition of the stochastic integral, it is crucial how to choose the
sequence of points &, because to different choices correspond different values of the integral.

In the following we are going to compute fot B(s)dB(s), with B(t) the standard Brownian Motion, using two
different extreme choices for &, i.e. & = tx—1 and & = ti.

CASE 1: & =tr_1

Having that

B(ty)B(ts_y) = 5 : (18)
we obtain
: ' m . | .
| Bejase = 1w {3 > 1B () = Bt — 5 D_IB(00) — Blte-)
Bt . 1 L2 BXt) ¢
- 2( - m%ﬁoﬁ;[mt’“) - Blte1)l* & 2( - 2’
where we used the fact that -
S IB() — Blten))? (19)
k=1

to be proved later. Actually for the Brownian Motion, the limit in (19) is valid also with probability 1.

CASE 2: & =ty
11|

/0 B(s)dB(s) = lm kZIB(tk)[B(tk) — B(tr_1)]-
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Again using (18) we obtain

' | .
/0 BEBE) = i, 3 B (0) — Bt )] + 5 D Blt) — Blte )P
k=1 —
LAl 3 o2 BX(t) |t
2 Hnﬁ?loﬁ];[B(tk) — Bt )P S 57+

where we used again the convergence relation (19).

2.3 Definition of the It6 integral

From the previous section we have noticed that there could be some ambiguity in the definition of the stochastic
integral via the limit of a Riemann sum, to avoid this we introduce the following definition.

Definition 2. Given a standard Brownian Motion {B(t),t > 0}, we say that a stochastic process {X (t),t > 0}, is
adapted to the filtration generated of the Brownian motion if

1{X(t) € A} = f(B(s),0 < s <),
for any event A.

The above definition just states that the process X (t) cannot anticipate information about the Brownian Motion
after time ¢. Given the definition of an adapted process we are now ready to define the It6 integral.

Definition 3. Given the standard Brownian Motion {B(t),t > 0} and an adapted stochastic process {X(t),t > 0}
satisfying the condition

¢
/ E[X?(s)]ds < o0
0
the Ité integral, I;(X) is defined as
||

1) = [ X()dBE) = tm > X (1) [B(b) - Bt
k=1

where the limit is meant in L2 sense.
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